Name:

Placing Decimals with Multiplication

Detelmme the placement of the decimal in each product, ANsSwers
K- 5809 x 78 = 4 5 3 1 0 2 )
1. Count the quautltty of numbers to the right of the 2. Add the amounts together. Your answer L
decimal for each factor. should have the same quantity of numbers
io the right of the decimal.
5.809 has 3 numbers right of the decimal (5.809) B 2.
7.8 has 1 number right of the decima! (7.8) 3+1-4 _
: 5.089 (3) x 7.8(1)= 453102 (4)
* 2 3
Also notice that 5 x 7=35 and 6 X 8 =48, 50 5.809 % 7.8 will be a more than 35 but less than 48, /
4.
1) 2x526= 1 0 5 2
5.
2) 7.1x215= 1 5 2 6 3
3) 3.222x5.63= 29 32 9 9 8 ¢ 6.
4y 977 x54= 5 2 7 5 8 7
5) 2.57x9.4= 2 4 1 5 8
8.
6) S5x49= 2 45
9.
7y 7.528 x 932 = 70 1 6 0 9 6
, 43%x2872= 1 23 4 9 6 10.
9) 9.75x1.861= 1 8 1 4 4 7 5 11.
10) 6.4 x9355= 5 9 8 7 20 >
11) 131x73= 9 5 6 3
13.
12) 7x71= 4 9 7
13) 1.554%5.1= 79 2 5 4 14
14) 5.5x9.506= 525 890 15.
15) 7.867x9.4= 7 3 9 4 9 8 16
16) 1x527= 5 2 7
17.
17) 6.1 x1.44= 8 7 8 4
121 3181 x 4.84 = 1 539 6 0 4 18
19) 24 x4514= I 0 8 3 3 6 19.
20) 3.39 x 8.621 = 2.9 22 51 9 2.
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